BÀI TẬP CHƯƠNG II - SỐ HỌC 6 ( TUẦN TỪ 9/3/2020)

Bài 1. Tính:

a) [image: image2.png]—3+12







b) [image: image4.png](—24):8







c) [image: image6.png]—9—13




d) [image: image8.png]—3—18







e) [image: image10.png](=7).(=5)






g) [image: image12.png]5+ (—11)




Bài 2. Tính:

1)  [image: image14.png]17-11-14—(-39)






2)  [image: image16.png]125—4[3-7.(-2)]




3)  [image: image18.png](=2):(=2)*+8







4)  [image: image20.png](—14).9 —13.(—9)




5)  [image: image22.png]—2—13+(—14)—19






6)  [image: image24.png]221+ 4[(—5).8 — 4]




7)  [image: image26.png](—2)3%.(—2)%* + 32







8)  [image: image28.png]—15.12-8.(-12)




Bài 3. Tìm [image: image30.png]xX€Z



 biết:

a) [image: image32.png]7x

—14






b) [image: image34.png]6x —(—5) =17




 c) [image: image36.png](x+2)(x—9)=0




d) [image: image38.png]x:(=2)=9






e) [image: image40.png]4x + (—8) = 24




g) [image: image42.png]B—x)x+7)=0




Bài 4. Tính tổng của tất cả các số nguyên x thỏa mãn :

a) [image: image44.png]





b) [image: image46.png]—5<x=3






c) [image: image48.png]x| <5




